Errata for Elements of Distribution Theory

pg.28, line -3 the lower limits of the integrals should be 1
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50, line -7 F(x,y) = Fx|y (z|y)Fy (y) should be dF'(z,y) = dFxy (z|y) dFy(y)
52, line 10 p(z1,z2) should be p(z1, z2, x3)

52, line 15 6*2) should be 6%3

59, line 12 E(Y | X) should be E(Y? | X)

60, line 8 p(z,y) should be p(z1, x2)

71, line 10 exp(itx) should be exp(it)

95 In part (v) of Theorem 4.1, “c € R” should be “c > 0”.

115, line -9 (—1)7 should be (—1)7*1

pg. 118 In part (iii) of Theorem 4.16, “X; and X} are independent” should be
“(X1,...,X;)and (X,41,...,Xy) are independent”.
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119, line 14 “k = z” should be “k = 2”.
126, line -9 one Var[E(X|Y')] should be E[Var(X|Y)]

193, line 9 Z; should be W,

pg. 213, line -2 p(y1 — (y2 + -+ 4+ Yn)y2,-..,Yn) should be p(y1 — (y2 + -+ +
yn)7y27"'7yn)
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240, line 6 (vi) should be (vii)

253 The matrix in Exercise 8.8 should be

L p p p
plp...p
Y=1. ) )
pp p -1

263, line -3 =< should be <
270, line -5 n — oo should be z — oo
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pg. 331, line 8 “as n — oo” should be deleted
pg. 354, line -10  “sequences real-valued” should be “sequences of real-valued”

pg.366, line 6
ips/n
o\/n

ipty/n
o

should be

pg. 412, line 8 “mean” should be “maximum”

pg. 492, line -8 f(x) should be f(z) =



